2 0 '“""5"’":’ u BT Lt 3Y OIERSEBRIICEST 2 &,
e 898 DT EBRILFZR (VNER)
et <k a HIHIMEOL 3ISHIBT 5 &, EER 2B EE RS
OROR(A)  |Zite 8R 308 (k) [e3kedl g 3oy [OTOkedll gp gy |A8kCAl gp 4g(p)  [PBZkd
1A E<H (g £ REDDEESL 21.69 25.89g 26.99 23.0g
?- = - Ty Tl FpHIInd FTpHIIn)
LEZIZA A hH DO TITA A )
SAET E5ELR—JAHL— ZFITAADL YLK nnsHiT TEPE gk
* (HD) DB J—-LRa—4%5% ROPINAHEZLS WBEWERIVNDR—T 2EORDEVIL s
RS —
Ba B E(9) HoEEDIBHLICRS pem B ER & (9)| »= B ERE(9) 2= E5E ERE(9) = B %A & (9)
&) 7w~ |4F 8RA | R|#& |43 8RA | K& |43 8RA | Rl |43 8RA | R
'@ = llES 80.0|& |* 80.0|& [k 80.0|& [k 80.0
# | K% 5.0|#% [£V3I>F 25.0|7# [REAZTHA 2.0|#% (&R 40.0
BMIICERALTV R @@@ ‘ A 35.0|% |srmis 25.0[# [E 1 60| |m 1.0
BEEH LTI, 38 0.1% |IcACA 22.0l# [lcal< 1.0 zvwolsHvp 1.0
‘ q L&D 0.03 DEZAITRL 30.0)#% |L&Hns 1.OJ#% |l3<Tw 40.0
. AR 88.0)4& IV AITA 5.0 IFalLHPp 2.7|7#% |BEEEE 25.0
| % |IcACA 25.0|4& [LLo52° 1.0 zwolsedvp 0.7 AZAIRL 20.0
. # |Lehng 44.0 zwolsediw 3.0 18 0.2|% |-ghx 66.0
FEE (3 -4k @ (Br)) or~ben | |FAKS 0.5 [P¥ELLIW 15| |'& |.O|#& |®Ea¥ 6.00
&) OBTY. ' - & |Lesns 05| |& .ol Kz 12.0]  |& 1.0
POEDEL5LELEDLS \l& |#y-—7=10 1.0 &Y A |.0|& [k& 8.0|& |=E¥E 3.0
e 5.0|# |La# l.o|#& |o1>+— 10.0 zwolsHvd 5.0
@ |Tnx 80.0 @‘ AL—t 0.8[% [T 5ol [Fv~wy 33.0] |2v4 0.5
& |IcACA 10.0 b Foy T 5.0|4 |f=3h¥ 24.0|% [IcALA 1.0 K 20.0
' @ 18 0.3|% |%v 22.0|# |fz3n¥F 26.0[4 2% 22.0
| ‘ % VAT 2.0|# |5IT b KEEETE) 33.0|%% |tu')— 6.0|#% |bXL 35.0
F—A)y 7 0.01|#% |Ex¥x 4.0 18 0.3 zwolsdvp 2.0
RAMDZBRIFEEFNT @ JaFvYILT 3.0|% |EMaz g.o|l |zl 0.03|% |LeawE 1.0
WwE T, \ J MRI—Y—2 2.0 HlY) A ) 2.0 SFaLLHWp 2.5
c bohYY—2R 3.0 Vi 100.0 a7/ 1.0
g{rﬁz%;i%m HFE)ERbHD zvwolsdvp 2.0[& [3X¥H€)— |18 o—'x 0.01
= # | Lok 0.5 2—TR—2F %> 5.0
LYNZ5HND, X660 5nHEIiB Z—FR—2F %> 10.0 X 100.0
#ars<A HwIA> 1.0
R 250, & [Fryx 2.0
- K 40.0
& |FeRVY 33.0
% |IcACA 16.0
~ ‘ B 2.0
e b2} 0.3
{::‘,;i' WS} 0.03
¥ 5 1) —="
"y *BREORIC, EOBOTIL—2 § L 2
OBNIMNMET\FT, " '
” 685kcal 582kcal 6 | Okcal A 6 | 3kcal 637kcal " 657kcal
98 58 (K) 53 4g 98 68 (K) 50.0 98 78 (k) 58 .85 98 8H (&) 557 98 11B8(A) 58.85 98 128 (K) 30.69
Tl T Tl T T Tl
ZEAa 22y E3H2ZLTRA | pzpz A QA I WAV ~ ZEA
NI DLLEI DN =8 A9 T RINT T4 HLnt=>EHiF a4 11 V==Y INIIN=T 4» TiEnAZIc
ROHZELELHDHZT LS EoNONTIHSSY ¥H3NDTELLS ~c byRFZ—7 HL—Rb7 0N, FRRDNDIAIH A
_ _ () — _ I sk oli el _
P BRd EHE(9)| »= BRE ERE(9)| »= BRb ERE(g)| = BRE ERE ()| 2= Bad ERE ()| 2% Biud FRE(9)
7w~ |43 8RA | K& |43 8RHA | K| |43 8RA | R|#& |43 8RA | R|#& |43 8RA | R|#& |43 8RA | R
EWES 80.0|# |/hB oy~ R(E] EES 75.0|F |k 80.0|& |E#E/ > K4 S ES 80.0
E RS 50.0|& X/ %554 25.0|4& |r—na—> 15.0[7/ [SFEIF 12.0|# [/\>/3=7'(80g) HME|#& |T1E(609) 147
% |-Eh¥ 55.0|#& |zFh¥ 65.0 i .ol |3 12.0|#& |=vyaL—oksE 6.0/ |[Ledn <77 ~ 2.0
DEZAIINL 25.0|% [IcALa 16.0 18 0.3|%% | 66.0|#4 b~ E 18.0|# [(EM&HZ 5.0
% |LeHss 3.0|#% |[91>+— 15.0 5TOLLHWP 3.0|% [icALA 13.0 b Fxoy 7 4.0 zwolsdvp 1.0
% |IcACA 18.0|#& |[&—~> 7.0 ZAR 1.0l |=3ha¥ 33.0[# [lcalK 0.2 N 3.0
zwolssw 4.0l |[=vyal—okE 10.0|# |[#L50g [l |Luwre 3.0l& [#V—TF411L 0.5|% |=84 2.0
# | Lok 1.0 TF vy 7 16.0)#% [LLHps o 1.OJ#& [L&LHa® 0.5|#& |=&%E 0.6 HY A 2.0
pi 1.0 MRI—Y—2 2.0 i 1.O)& |IcAhlK 0.1 HRI—Y—2 0.6 K 15.0
# Wz 1.0 b HYY—2 2.0 zwolsdvp 2.0|# x4 0.4 ARIA> 0.8|% |Fv~RvV 44.0
# (2% 1.0|# |La 0.6|# |FEH 6.0|# |LBa¥E 0.7 2—FR—2FF> 1.0} |IcACA 6.0
F |RoOIKE 5.0 18 0.3|# |*km 6.0 zwolsediw .4 18 o.1|# |z 2.0
7w | B<H 10.0 ZL&I 0.0l |EFE 20.0 i 1.0 L& 0.01 zvwalsHivd 0.2
% |ICACA e I 1.0]%& |*%# 0.5|# [aiBlS 5.0|% |#&uaz 5.0[# [LYA 10.0|# [37=H 15.0
7 |FeRY r-g’_“‘&-, 22.0|4& [FvRV 35.0|% [FuvzA 22.0|& |34 0.4|F |9A>+— 15.0|% [lcALA 1.0
7 |Ex¥ Y 4.0|% |IcACA 6.0|% [lcAtAa 1.0 Ny VRNIEDY. 0.1|#F [Lxh v 22.0|4& |t-3h* 17.0
7w~ |EMNAEZ 8.0|#& |f=Fta¥E 8.0|# |TF % FEEHETE) 16.0|& |k ZE#H I.0)4& [IcALA 1.0l [FVW2A 22.0
HY) g 2.0l |[K—La—: 5.0|4& |EXF 9.0|# (Y@ 5.0/ |Fh¥ 22.0|%& |EX¥ 6.0
K 100.0|%& |/>xzvr~<ax— 8.0 18 0.2|# |tvR¥F 20.0[#& £+~ 22.0 DEZAIINL 10.0
zwolsdvp 0.5 3TaLLHWD 2.5|%% |Ehx 22.0|%& |toy— 5.0 SFTalLLHWP 3.5
{3 0.5 M) g 1.0|% |IcACA L1.0|#& |/<teY 1.0 yi 0.3
AR 1.O|#& |FvRY 12.0 S 0.03 2L4S 0.02
K 100.0|#& |EX¥ 4.0 PR =117 1.0 HlY) &6 2.0
38 0.2 i 0.3 K 100.0
L&D 0.02 2A—=TR=RF %> 5.0
ITaLLIVYP 3.0 HL—% 0.3
zvwalssvw 1.5 K 80.0
2A=TR=RF %> 6.0
Vi 100.0




633kcal 643kcal 626kcal " 626kcal 6 | 6kcal 6 | Okcal
98 138 (K) 26.6 98 148 (K) 2h7g 98 158 (&) 20.4g 9a 198 (K) 2549 98 208 (K) 23.09 98 218 (K) 28.99
T TpHIIp) ol ECRINCY T TP T
LTATLE oo |TrAe g p|Fr—> VFEWT A TRA A
BRINDI— TSI 49 R NEEES g |[FupKng HIFTIEFHIDHEHNSIC EYNSEYIK IHhLNAZTIIANE
P D S s HOHITehhrODAEZLS LpINA—T TN NAZLS 2Eora—onnhYHi HoxY DT
EInFehFIFznTILLS
2 Bk E & (9)| 7 Y ZAE (9| B o ZF = (9)|om B o ZF = (9)|om B ZFE (9)|om B ERE(9)
7w~ |45 8RA | A7 (4% 8RA | A7 |45 8RA | |7 |43 8RA | K| |43 8RA | A7 (4% &RA [N
& |EENE/ RiE ESES 80.0[& |* 65.0|& |* 70.0|& |* 80.0[|& |k 80.0
#|eho ="l 13.0|%& | 1T b% 70.0]7# | K= 20.0|# |VF 20.0|7# [V A 40.0)7 |45 (609) 147
| EIF 15.0|# |3\ =A 30.0|# |- ¥ 22.0|# | K8 (&48) 10.0| [|:& 1.5] |3E 1.0
|33 F 15.0] |3& 1.0|# |IcA LA I 1.0]# |IcA LA 15.0|& |Led W\ 66.0|7# |12 M &= 3.0
% |9 2204k |1=Fh¥ 30.0|& [r—a—> 5.0 zwaltsiw 3.0 AT AL 15.00& | />y <wax—X 5.0
5% |EhE 44.0|% |IcA LA 15.0] [i& 0.3 |:& 2.0l |IcA LA | 1.0]|& | =5 0.5
% [lIcACA 8.0l4& | 2135 10.0] |2L&D 0.0 |& |=:B% |.5|4& | =34 ¥ 33.0|4& | ¥ vV 27.0
5% vy al—LKE 5.0 |&ZAlx< 20.0] |2wvBlLLH9D 1.0|4& |L&HA® |.0|4 |¥oF 25.0|4& | =wHY 22.0
7 | Kd 0.5|#& [k I.0|& |T%/ | .O| % |*:wh O0.5)# [1<5 4.00|%% |ICA LA 6.0
ARIA> 1.5 zwalsdyvp 5.0lF[F->%v% 66.0[# | 2135 38.0|& | =B 2.0l [z A 2.0
Y F oy | 1.0]& | =5 3.0|& ¥4 6.0|& | K &% / 5.0l [zvalLsin 5.0 [#Y4 1.0
% | FebEa—L— 13.0] |&YA 1.0|& | Lo 3.0|& |*m 7 3.0 |#Y4 2.0|% |7 FiFZ 5.0
H2YI—Y— 2R |.5|% |EHT 20.0] |zvalLo9 2.0|# |= 5% |.2]& |k 0.3|# |IcA LA 1.0
FITSRY—R 3.0|5 | Ay b v (Eokg) 0.5 A A 1.0 zvwalssiv 2.4 7K 20.0)4& [z 4 ¥ 33.0
4% [1zai< 0.2|% |=hx 22.0] |« \ 2.0l& |\ 1.5|4& |2F>% 1 2.0|4& |EX¥ 4.0
2=} 0.1|#& |B®L 15.0|# |¥ YA 15.0|7 |3 =A 10.0|# | v Y 22.0] [p¥alLsHiv 3.0
) 0.0 |#& |Er¥ 4.0|%% |13 | 7.0)4% [1=F4a¥ 27.0|# |[IcA LA 8.0 B A 0.5
| EFRF-X 8.0|# |12 &= 8.0]# |1a<= 12.0|4 |IcA LA 8.0l |x—na—> 10.0] |#& 0.1
FIRZSY 2.5| |&IvEs 2.0l&[icata 7.0l |AnE\F g8.0l& |\ o] B ETDE 1.0
i |aLyg—~—a> 2.5 |k 100.0|#&& |L\ =15 5.0 (Lol 8.0 [D¥olsHiv 2.5 [za3 1.0
% [lIcACA 15.0 %L 1 2.0|4& |L\ =15 4.0|& | LBk 0.9] |xk 100.0
#%F|7=Fh¥ 44.0 x| Ay b d s (8o)&) 0.2|#% |EXF 4.0
& [eay— 6.0 dEEE 4.0| % |12 M &= 8.0
% |/ 0.5 18 0.3| |HIY&Eh 2.0
2=} 0.3 dSTolLHwp 4.0 |k 100.0
L& 0.03 2A—=—TR=2F x> 4.0
5FaLesn 1.5 X 100.0 /_k
2A=TR=FF£> 5.0 /
K 100.0
31215
~Bl% LR~
NELLCWFIELIEH =1, &Y
EN2=5XY AZH
\
59 6kcal 653kcal 645k |¥ I 79 | keal 609kcal 680kcal
ca ca W ca ca ca ca
98 228 (&) 55 1g 98 258 (A) 5579 98 268 (k) 537 98 278 (K) 33.85 98 288 (K) 23.3 98 298 (&) 2589
Tl Tl FpIHIInp) FpIHIIp) T FpHITn)
L&<r ¥ A - NI ZlEA A SRR
WEZTV v A =K EEWZADITOT YYIDTYR = x3754 ICA LAY AT 1K BFVLEYA L
R—7E—>X HELHhDWERH T ERRONTEIHA ZAERPRD EFpIKETIFINDLLHUC 2FHLS AR L
INLHSY LS AZLS aAYAR—=S TOFVWLDAEZLS EOFAEAT
S8 Bk ERE(9)|o" Bk ZRE(9)|o" B ZRE(9)|" B RO B O Bk FERE(9)
7~ |49 8RA | A7 (43 8RA | A7 |45 8RR | K7 |43 6RA | K7 |43 &RA | A7 (43 8RA [N
|’/ ¥ & |k 80.0[#& |* 80.0[& |3IL7/%> REIESES 80.0[|& |* 80.0
&4 FTTYA HE|H |3 ~=] 20.0|7# |1 A (609) 1|7 [<13(609) 1[4 [ISACA 22.0|# |t 2.0
RN 20.0|#& |*54 1.o] [i& 0.5| |& O.1|# |BYBHAL®Z 5.0|7# [ =30F ¥ 20.0
7~ | K2 (82) I 5.0|%% |E\W\2A 95.0 ZL&S 0.1 L&D 0.0|# [*%(5& 0.507 vV 3I>F '}J{“ 20.0
# |Leh Vi 44.0|% |IcA LA 17.0] |zvalL59 5.0|% [N &8 8.0l & 0.1 |1=3h¥ 33.0
% |- 44.0|# |ERVATA 5.0l [#Y4 %1 BER 4.0|% | &R 20.0J4& |L&HA® 0.6
& [IcACA 16.0|7 |E#HS 20.0] |i& |.5]& |/ % 10.0|%& | 215 33.0)% [lcal< 0.6
# K5k 1.0] [#RZAl®< 10.0|& | LB¥E 2.4]& | K4 10.0|#& |L&HD® 10| |12 M &% 5.6
TF o7 8.0 zwalsyvp 5.0|= |k &% 0.6|& |/>xv7oLsLy—2 (E%) | {& i |.0|& |=BfE 2.7
MRI—=Y—2R 2.0|& | =54 2.0|% | Fr Y 22.0)# [FrXY 33.0|& | =& 1.0 N =INS17 1.3
bAYY—2 2.0l |#Y4 1.0|# |IcA LA 7.0 |#& 0.3 zwalseHiv 3.0l |#Y4 1.3
18 0.4 B |.Ol4& [ Eo% (¥5EERT ) | 6.0 | 71>+ — 10.0 FAYY 0.7 B 1.3
S 0.03| |HIY#Eh 0.5|& |TY 2% 1.0|4& | =34 ¥ 33.0] |x« 10.0|& | ¥4 0.2
2—TR—2F %> 5.0 [x 20.0] |zvBlLL59D % 2.0|& |IcA LA I 1.0|& |x2Fnd 33.0|7# |¥Y & 10.0
K 20.0|7# |B<bH # | LA 1.0|4& |~—La—> 8.0l |IcA LA I 1.0)# |IcA LA 5.0
ARIA> |.0|# |F DY 0.1|# |3, 20.0[#& | ¥+ 22.0|4 |- ¥ 22.0|#& [T\ 20.0
# | Lok 0.5|# |\ &#H 7.0l [~V 2A 22.0|4% |/t 0.5|# |diE S 8.0|4 |13 F 27.0
il = VAVA 0.0l |xk 8.0l |#-3h¥ 22.0] |#& 0.3|#& |Ex¥ 4.0 |15 7.0
5% [Fvy 33.0|& | ¥4 5.0l [1lcAta 7.0l |2LsD 0.03|# |12 &% 8.0|# LW =lF 4.0
& |Fhax 1.0 R AL 10.0] [59olsHv 2.0 |&IvEh 2.0l |Exx 4.0
2=} 0.3 CdEEES 4.0 |Z—FR—2FF> 5.0 |[x 100.0] [5¥BLLID 3.0
S 0.03 5<H & M A% 8.0l |x 100.0 5 0.3
13 2.0 | ~3 4 | A DK 2.0 M 1.0
B\ Lokw 0.5 bt~ ok K 100.0 HIlY & 2.0
& |4 —THAL 0.5 K 100.0
A 3=k ACELE i0.0
A->TWET, walsswp 3.0
= # | e 5.0
FoRVEEETISI(% 204 0
BXATERFILLY, & | R E 1.0
K 6.0
SENTAKIEI.IA29B8 (&) TT . FHNE AL LIENZET A
PO T . WLCHFEHMALET,
[ [




